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Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, the write :
1. — A

® There is no negative marking for wrong answer.
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7@\
Trlmd — I 1790 AeR IS Beq A 2 OE@ BS 773
1. —A
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Each question carries 2 marks

1. The word ‘environment’ Originated from the word —
(A) Envios
(B) Environ
(C) Environs
(D) Envirion

S| GTSREAGIT *bT TeAfe (T *W (AF BT —
(A) GfezT™
(B) @R«

(C) G

2. Which one of the following is the most important element of ecosystem?
(A) Energy flow
(B) Ecological succession
(C) Food chain
(D) Food web
3| e (@G aEetER TR wFgsd G 2
(A) ez
(B) G AT
(C) AWy ¥gleT

Page : 3 of 13



3. Which one of the following is biodegradable?
(A) DDT
(B) Plastic
(C) Cowdung
(D) Aluminium
o | T @G b 2
(A) Tefen
(B) =5
(C) g

(D) Suregfatferams

4. The largest number of tiger reserves are located in —
(A) West Bengal
(B) Karnataka
(C) Andhra Pradesh
(D) Madhya Pradesh
8 | WK Y ATF ARCE —
(A) wAfRa=st
(B) wefic
(C) =™
(D) st

5. The earth summit organised in —
(A) 1972
(B) 1982
(C) 1985
(D) 1992
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€| TFA AT A 27 —
(A) 593
(B) sovR
(C) save
(D) >o5%

6. Example of renewable natural resources is —
(A) Coal
(B) Solar power
(C) Iron
(D) Petroleum
| TP Lo Tl Triggel 2o —
(A) =z
(B) cT=fe
(ORCI
(D) coAGIferIS

7. Air pollution is NOT caused by —
(A) Smoke
(B) Loud speaker
(C) Sewage
(D) Insecticides
Q| D IR T T —
(A) =
(B) =TT “Aplx
(C) s <&
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8. The author of the book ‘Silent Spring’ is —
(A) Charles Darwin
(B) Rachel Carson
(C) A. G Tansley
(D) E. O. Wilson
b | BCETD AR I20A FTIF —
(A) BIFFT BIOES
(B) IToeT I
(C) «. f&r. Gr=ifet
(D) 3. 8. TZEPA

9. The chemical that is used to ripen mango is —
(A) Calcium sulphide
(B) Calcium Carbonate
(C) Calcium Chloride
(D) Calcium carbide
S| SN AP G (I AR 2 = —
(A) FETRRIN AFIZE
(B) TR AT
(C) FeTPRN (FiRize
(D) F&OEN FTT

10. Bhopal gas tragedy took place in the year —
(A) 1975
(B) 1980
(C) 1984
(D) 1986
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o | gHileT I 7EoAl (T q=CH =W —
(A) S»vac
(B) s>svo
(C) >5v8
(D) S5vv

11. Deforestation generally decreases —
(A) rainfall
(B) Soil erosion
(C) Draught
(D) Global Warming
S | SRR AT FHE 7 —
(A) Jfesire
(B) g
(O

12. In which district of West Bengal Buxa Tiger Reserve is situated?
(A) Darjeeling
(B) Alipurduar
(C) Coochbehar
(D) South 24 parganas
53| ARSI (Sl TN Y AFH SRE 2
(A) miferfer
(B) s
(C) vz
(D) wf=eel 28 2Rl
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13. Full form of CN.G —
(A) Common natural gas
(B) Common national gas
(C) Certified natural gas
(D) Compressed natural gas
>9| C.N.G @3 7l <5 —
(A) I I ST
(B) 1 pttentet Sttt
(C) AfDTEe WHRE a5
(D) 0= IbIleT Sl

14. The malarial parasite is a —
(A) Protozoa
(B) Bacteria
(C) Virus
(D) Fungus
8 | IR TG 90 —
(A) ceneoITeT
(B) amfaf
(C) wizzms
(D) =TT

15. Who discovered Ozone hole?
(A) Dr. J. C. Farman
(B) Charles Darwin
(C) Sir Isaac Newton
(D) Ernst Haeckel
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se | et Rm (& SREE I 2
(A) ©. (& B TR
(B) BIel TG
(C) T ST 85+
(D) 5 (R

16. Who started ‘Narmada Bachao Andolon’?
(A) Medha Patkar
(B) Kiran Bedi
(C) S. L. Bahuguna
(D) None of these
SY| T JBIS ST (F ST A ?
(A) CI&l AT
(B) f=et @t
(C) @, @, q2ea
(D) @AIDE

17. Radium is discovered by —
(A) Keplar
(B) Dr. J. C. Bose
(C) Gragor Johan Mendel
(D) Madame Curie

sa | GG SfEE S —
(A) (oAeTlq
(B) ©. (& 1. @
(C) ca9lg (Rl (eest
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18. Vitamin D deficiency causes —
(A) Scurvy
(B) Ricket
(C) Malaria
(D) None of the above
st | febife U ug wrerg &1 —
INKIS
(B) facsd
(C) Syicertaat
(D) €= (@A w7

19. Which one of the following is a greenhouse gas?
(A) Nitrogen
(B) Argon
(C) Oxygen
(D) Methane
So | TR @D @3 AT=ies a7 2
(A) TGS
(B) ®itofey
(C) SIS
(D) e

20. Full form of COD is —
(A) chemical oxygen demand
(B) cadmium oxygen demand
(C) composite oxygen demand

(D) composite oxygen deficit
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j01 B €. 8. @3 70 3T 2o —
(A) @hRlE e T
(B) e Sfees fose
(C) FCARG SfEe e
(D) FCAIRG wREes (SiFHo

21. Which one of the following is a Mangrove?
(A) Ranthambore
(B) Sunderban
(C) Western ghats
(D) Andaman
38 | ffeie @G (o spicere ¢
(A) 9T

(B) W=
(C) ~if*orais

22. International forest day observed on —
(A) 21% March
(B) 5" June
(C) 15" August
(D) 10" December
R} | O oF SRenfe ifere 27 —
(A) 3¢ W6
(B) €2 T
(C) ¢ AR
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23. Water pollution protection act in India is enacted in —
(A) 1952
(B) 1964
(C) 1974
(D) 1992
20| SRS e 3 dferay oz d4dre 2 —
(A) Svex
(B) s»us8
(C) >»a8

24. Earthquake is measure by —

(A) Barometer

(B) Seismograph

(C) Thermometer

(D) None of the above
38 | i o 2 —

(A) ARG

(B) Pricaiez

(C) <TifioE

(D) THAER (AR T
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25. AIDS is caused by —

(A) HIV

(B) HPV

(C) HCV

(D) None of the above
¢ | AIDS @3 9 —

(A) %5 o2 fo

(B) @%b fof f©

(C) @35 7 f&

(D) THAER (PICAIDE T
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